Region Selection pTss [GeV]

0 Np =0, Nsy =0, pPR > 500GeV,2 < N; <5 250-400
1 Np =0, Nsy = 0, p*R > 500GeV, N; > 6 250-400
2 Np =0, Nsy > 1, pP*R > 500GeV, 2 < N; < 5 250-400
3 Ny, =0, Ngy > 1, pPR > 500GeV, N; > 6 250-400
4 N, =1, Ngy = 0,300 < pPR < 500GeV, p5 < 40 GeV 250-300
5 N, =1, Nsy = 0,300 < pPR < 500GeV, 40 < pb < 70GeV 250-300
6 N, =1, Nsy = 0, pR > 500 GeV, p5 < 40 GeV 250-400
7 Ny, =1, Nsy =0, pISR > 500GeV, 40 < pb < 70GeV 250400
8 N, =1, Noy > 1, p < 40GeV 250-300
9 Np > 2,300 < plR < 500GeV, p < 80 GeV 250-300
10 Np > 2,300 < piR < 500GeV, 80 < p5 < 140 GeV 250-300
11 Np > 2,300 < piR < 500GeV, pb > 140GeV, N; > 7 250-300
12 Ny > 2, PR > 500GeV, p2 < 80 GeV 250-400
13 Ny > 2, pISR > 500GeV, 80 < pb < 140 GeV 250-400
14 Np > 2, pR > 500GeV, pb > 140GeV, N; > 7 250-400
15 Np =1,m5 <175GeV, N; > 7, Nres > 1 200-250
16 Np >2,m5 <175GeV, N; > 7, Nres > 1 200-250
17 Np=1,N;>7 Ny =0, Nres =0, Ny =0 200-250
18 Np >2,N;>7,Ny =0, Nres =0, Ny = 0 200-250
19 No=1,N; >1,Npes =0, Nw =0 200-450
20 No=1,N;=0,Npes >1,Nw =0 200-250
21 Ny =1,N; >1, Nres =0, Nw >1 200-450
22 Ny =1, Ny =0, Npes > 1, Ny > 1 200-250
23 Ny >2, Ny =1, Npes = 0, Nw = 200-450
24 Ny >2, Ny =0, Npes = 1, Ny = 200-250
25 Ny >2,N; =0, Npes = 0, Ny = 1 200-250
26 Ny, >2,Ni=1,Nps =0, Nw =1 200-450
27 Ny >2, N =0,Npes =1, Nw =1 200-250
28 Ny >2,Ni=1,Nps =1, Nw = 200-250
29 Np > 2, Nt > 2, Npes = 0, Ny = 0, m2 < 175GeV or piss < 250 GeV >200

30 Ny >2, Ny =0, Nyes > 2, Ny = 0, m < 175GeV 200-250
31 Np > 2, Nt = 0, Nyes = 0, Nyy > 2, mb < 175GeV 200-250



